G OBI Intelligent Dezignes 2000 Corp.
CHS Denver, Colorado 30211
il wuw, GOBIEACKS. com

GENUINE ACCESSORIES

GOBITOYOTA 4 RUNNER 5TH GEN TRD PRO REAR LADDER
INSTALLATION INSTRUCTIONS

Tha Fohi laddar must ba inspactad bafors ageh usa fo malkes corfain affachments ara sgeeura, and for evidenca af
Wear. Misuse of fhe ladder or faifure fo ohserve fhe manufaciurer s msfruchions as fo insfallafion, proper
Affachment and mainfenance will void any warranfies el may be impliad by law.

CAUTION

"LADDER IS TO BE TRAVERSED UPON

ONLY

WHEN THE REAR DOOR IS FULLY

CLOSED AND LOCKED"

CAUTION: Make certain to apply Anti-Seize to all screws

Installation Instructions GOBI4 RUNNER. TRD PROREAR I ADDER. |pesrwn GT4RTRDPROL| SHEET ] oF §




G OBI Intelligent Designs 2000 Corp.

RACKS Denver, Colorado 30211

wuw, GOBIEACKS. com
GEHUINE ACCESSORIES

GOBITOYOTA 4 RUNNER 5TH GEN TRD PRO REAR LADDER
INSTALLATION INSTRUCTIONS

Cadelines:

When using Load Carriers and Accessories, the user must understand the precautions. The points listed helow
will assist you i using the rack fearrier system and will encourage safety.

# For quality fits and safty, use only the recomimended rack or accessory. Do not assume an accessory will fit,
always check with dealer when obtaiting new accessories. Use only approved accessories on load carriers.
Uzingz other brands will woid your watrenty.

¢ Mlake sure all knobs, bolts, screws, straps, and locks are firmdy attached, tightened and locked before every trip.
Enobz, bolts, screws, straps, and locks must be pertodically inspected for sighs of weat, corrosion, and fatigue.
Check your load at stops during the trip to insure continued fasteming security.

# Check local and state laws governing projection of objects beyound the width of a vehicle. Be aware of the
widih and height of your cargo since low clearance branches, bridges, and parking garages can affect the load
A1l cargo will affect the welicle's ditving behavior. Hever dive with arey lock, know, or rack in an open ot
unlocked posttion.  Alllong loads such as, but not lunted to salboards, suthoards, kayaks, catoes, and
lumber riast be Hed down front and rear to the bumpers or tow hooks, of the velicle.

# Femove yout tack accessories when they are not in use, before intering car washes, prior to talang i your
wvehicle for service, and whenever clearance may be an 1ssue.

# Alllocks must be turned and moved periodically to insure smooth operation. Use graphite or similar diy
lubricant to help this. Locks are designed to deter vandalism and theft. Remowe waluable gear if your
vehicle is unattended for an extended period. Place at least one key in the glove compartment.

# For safety to your wehicle and rack system, obey all posted speed linits and traffic cautions. Adapt your
speed to the conditions of the road and the load being carned.

# Do not use load carners and accessores for purposes other than those for which they were designed. Do not
exceed their carrying capacity.

« Consult with your dealer if you have any questions regarding the operations and linats of this product.
Rewiew all instnactions carefully.

CAUTION: Make certain to apply Anti-Seize to all screws

Installation Instructions GOBI 4 RUNNER TRD PREO REAR LADDER |partwo GT4RTRDPROL SHEET } oF 8




G OBI Intelligent Designs 2000 Corp.

RACKS Denver, Colorado 30211

wuw, GOBIEACKS. com
GEHUINE ACCESSORIES

GOBITOYOTA 4 RUNNER 5TH GEN TRD PRO REAR LADDER
INSTALLATION INSTRUCTIONS

Inchided m kit

Letter Description Location | Quantity
A GOBI 4 RUNNEE. 2010-12 REAR DOOR. LADDER Ivlain biox 1
B LOWER LADDER CLAMP Aeapned 1
toladder
1 strapped
{'_ LADDER HANGER BRACKET it 00 1

GOBI LADDER MOUNTING HARDWARE

CONTENTS: 2- 5/16" Nylock nuts 55

2- 3/16" Lock washer 58

2- 3/8" Flat washer 558

2-10-32 x 5/3" Bocket set cap screw 35
I 1- 3/16" Allen wrench BACG #1 1
1-3/32" Allen wrench
1- 1/8" Allen wrench

2- 5/16" x 1" Button head screws 8§ | P e
2- 5/16" Flat washers 55 ——  to bottom
2- 5/16" Lock washers 55 of ladder

D

Bag 1

Installation Instructions GOBI 4 RUNNER TED PRO REAR L ADDER |parrvo GT4RTEDPROL | SHEET 3 oF 8




G OBI Intelligent Dezignes 2000 Corp.
CHS Denver, Colorado 30211
il wuw, GOBIEACKS. com

GENUINE ACCESSORIES

GOBITOYOTA 4 RUNNER STH GEN TRD PRO REAR LADDER
INSTALLATION INSTRUCTIONS

The robi ladder must be mspecfed before each use fo make cerfaim affachments are secure, and for evidence of
wear. Mizuse of fhe ladder or failure fo obzarve fle manufaciurer s msfructions as fo msfallafion, proner
Affgchment and mainfenanee will void any warranfies fhcf may be implied by low.

[MoTALLATION NG TRUCTICHNS
1-  Pnror fo imstall read all instc hons carefully then refer back to page 3 and rake certain all parts are present betore
installation.
2- Beferio page 5 using masking tape or the like attach a plece of tape as shown m Fig. 2 at the fop of the rear door Lt gate

approximately ( 3- 3/8") fror the diver side owter roof top rmbber molding edze .

3- Beferto page 3 and remove ladder hanger bracket “C7 from your parts kat. "Do nof peel off the dowble back profeciive film
af ihis Ave . Befer to page 5 carefilly slide hanger bracket U7 as shown in Fiz. 2 and exploded wiew Fiz. 2a hetween the
gapof the upper rear door ft gate and the mainvelocle bodsy,  Chice bracket “C7 has been shipped mifo the gap alignthe left
edgze of the ladder hanger bracket with the masking tape mark and pull the hanger bracket 7 so that the mside edge "C-17 15
up against the rear bft gate door edge as shown in exploded wiew Fig. 2a. Use anadditional piece of masking tape to hold
down bracket “C7 from moving ternporarnlyat this tirme

4 Beferto page 6 attach ladder “A7 on to upper ladder hanger plate “C as shown Do nof peel of f double back profective film
af fhis Ame ¥, Visuallyalizn the ladder so that it hangs verhcally straight up and dovan. ¥Vou may want fo use a level for
accuracy i desired so that the ladder does not appear slanted.  Onece you have confirmmed that the positon of the ladder 1z
vertbcally straizht place a plece of masking tape at the bottom driver or passenszer side edeze of ladder “A-1% as shownin Fiz. 4.
Lfter the masking tape mark 15 applied remove ladder A7 frorn the rear door.

5- Beferio page 5 and remowe the ladder banger bracket *C7 from the door, clean the surface area where the ladder hanger
bracket is to be attached with denatored aleohol.  Peel off the protectee double back tape fil and re-fitladder hanger
bracket “CU7 hack mn place and be suxe that the 1nner edge “T-17 15 m full contact wath the rear door 1t gate’s upper edgze az
shownmFig. 2a. Cmce m place press down firmdy and hold for at least 30 seconds.

f- Referto page 7 Fiz. 5 and Fig. 5a reroove frorm wour hardware kit lower ladder clamp “B®.  Remowve from the lower ladder
clarap “B7 a (47 x 107 alurdnurn pinch plate with double back tape attached. Bz shownin Fig. 5 and Fiz. 5aclean the area
on the outside and mside bottom lower 1ip of the rear door Iift gate where the ladder was previouslyplaced with denatured
aleohiol then peel off the double back tape from the aluranurn pinch plate and attach to the inside door’s lower hp as shown
in Fig. Sa

T- Refer topage & and remove the twao 5/16-1821” buttonhead screws, lock washers and flat washers “C" from the
bottom of the ladder using the 37167 Allen wrench supplied in ywour kit and place nearby as they will be needed
shortly. Fefer to page 6 and remove the double back protective film from the bottom of the ladder “A-17 then

re-install ladder “A” back onto the hanger plate “C7 asbefore.  Asyoulowerladder A" onto the rear door 1ift gate
pull down firmly as youalign the lower ladder plate “A-17 to the masking tape marker previously made.  With

the help of another personkeep lower ladder plate “A-17 in line with the bottom lower Lft gate ip andhold in place
for 30 seconds.

8- Refer topage & Fig 6 and Fig da with the help of ancther person while still hol ding the ladder against the lift gate
rear door, open ift gate and install clamp “B7 to the botbom of ladder “A-17 and rear door Uft gate as showninFig 6.
Thread the two 5/16-12 x 17 button head screw s, lock washers atd flat washer just recertly removed back into the
bottom of the ladder using the 37167 Allen wrench and fully tighten at thastime.  Contirne to the inside of clamp
“BT and fully tghten screws “B-37 using the 1787 Allen wrench suppliedin your kit as shownin Fig éa

9- BReferto page 6 Fiz. 4 and install washers, lock washers and mits “B-4" to the upper hanger bracket as shown in Fig. 4 and
fully hghter, "D nof over fghfen”.  Bemowve all previously applied masking tape markers. Installabon m now
cormple ted.

10- If you should experience a slow lifting of the rear door Lift gate with the added weight of the ladder a stronger gas spring is
avallable upon regquest.

Installation Instructions GOBI 4 RUNNER. TRD PRO REAR LADDER. |eerrwo GT4RTRDPROL | SHEET 4 oF §




G OBI Intelligent Designs 2000 Corp.

RACKS Denver, Colorado 30211

wuw, GOBIEACKS. com
GEHUINE ACCESSORIES

GOBITOYOTA 4 RUNNER STH GEN TRD PRO REAR LADDER
INSTALLATION INSTRUCTIONS

{'-1
-1
Diouble back Tape
Fap hetween Llamn vehicle body
atud rear door Lift Gate M
s Thread two 10-32 x 58" Socket Set
3- 378" cap screws nto the bottor of hanger
s plate "C" after install, then tighten
with a 532" Allen wrench located m
fﬂ_ﬂ__________ﬁ yonr hardweare kat.
/“-\-..\_\x
e
% S —
S
S

Make certain hanger plate
M3 sits in heveled recess

SEERE Ilasking Tape o
"—\_\_\_\_\- . ;
Rear Door Lift Gate

v | Fig. 2

Ladder Hanger
| bracket "C"

\ Eear Dioor Lift Gate

i1 closed position

Vehicle Il ait
p? Body

= C-1

“\x | Fig. 22

Installation Instructions GOBI 4 RUNNER TRD PRO REAR LADDER |eerrwo GT4RTRDPROL | SHEET 5 oF 8§




G OBI Intelligent Dezignes 2000 Corp.
CHS Denver, Colorado 30211
il wuw, GOBIEACKS. com

GENUINE ACCESSORIES

GOBITOYOTA 4 RUNNER 5TH GEN TRD PRO REAR LADDER
INSTALLATION INSTRUCTIONS

Top of rear door bt Gate
Mlasling Tape matker

Diouble back tape
protective film

Fear Door Lift Gate

FPriot to ladder install
remove bhoth 5716 21"
button head screwrs,
washer and lock washers
"2V from under ladder
atud hold for next step.

Lowrer rear door bft gate
masking tape mark

Fig. 4

Installation Instructions GOBI 4 RUNNER TED PRO REAR I ADDER |patrvo GT4RTREDPROL | SHEET § oF 8




G OBI Intelligent Designs 2000 Corp.

RACKS Denver, Colorado 30211

wuw, GOBIEACKS. com
GEHUINE ACCESSORIES

GOBITOYOTA 4 RUNNER 5STH GEN TRD PRO REAR LADDER

INSTALLATION INSTRUCTIONS
A-1

Eeatr door Lift Gate in open
position

Clean sutface with
detiatured alcohol

Peel off adhesive backed tape
anid attach pinch plate to
underside of bft gate opposite
of ladder support plate A-1 as
shown in Fig. 5a below

Fear Door Lift

Fate Lower Lip Fi2+ 5

Rear Door Open and
Lifted for Clamp "B"

Y
installation
Al
Clean the pinch plate
cotitact area with
denatured alcohol _
priot to install Edhesive backed

Alaminam pinch plate

Installation Instructions GOBI 4 RUNNER TRD PRO REAR LADDER |eerrwo GT4RTRDPROL | SHEET 7 oF §




G OBI Intelligent Dezignes 2000 Corp.
CHS Denver, Colorado 30211
il wuw, GOBIEACKS. com

GENUINE ACCESSORIES

GOBITOYOTA 4 RUNNER 5TH GEN TRD PRO REAR LADDER

INSTALLATION INSTRUCTIONS
A-1

Eeatr door Lift Gate in open
position

““ﬁT_Tﬁe SME" allen
wrench located in
Eaz #] to tighten
SOTES

Oy,

R

Rear Door Lift
Fate Lower Lip

Fig. o

Rear Door Open and

Lifted for Clamp "B" i)
installation —
\ .
A-1
B-3 B
et screwr
& dhesive bhacked

Aluminum pinch plate

Fig. 6a

Installation Instructions GOBI4 RUNNER TRD PROREARLADDER |parrvo GT4RTRDPROL | SHEET § ofF 8




	Gobi Toyota 4 Runner 2010 5th Generation rear door ladder page 1
	Gobi Toyota 4 Runner 2010 5th Generation rear door ladder page 2
	Gobi Toyota 4 Runner 2010 5th Generation rear door ladder page 3
	Gobi Toyota 4 Runner 2010 5th Generation rear door ladder page 4
	Gobi Toyota 4 Runner 2010 5th Generation rear door ladder page 5
	Gobi Toyota 4 Runner 2010 5th Generation rear door ladder page 6
	Gobi Toyota 4 Runner 2010 5th Generation rear door ladder page 7
	Gobi Toyota 4 Runner 2010 5th Generation rear door ladder page 8

